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AREAS 

OBJECTIVES 

 

1. Area bounded by xxy sin=  and −x axis between 0=x  and ,2π=x  is     

(a) 0      (b)π2  sq. unit         (c)  π  sq. unit  (d) π4  sq. unit 

 

2.  Area bounded by the parabola ,4 2xy =  −y axis and the lines 4,1 == yy  is     

(a) 3 sq. unit  (b) 
5

7 sq. unit       (c)
 3

7 sq. unit (d) None of these 

3.Area bounded by the curve ,
2xxey =  −x axis and the ordinates axx == ,0   

(a) 
2

1
2

+ae sq. unit (b) 
2

1
2

−ae sq. unit           (c) 1
2

+ae sq. unit       (d) 1
2

−ae sq. unit 

4. Area bounded by curve ,3xy =  −x axis and ordinates 1=x  and ,4=x  is 

(a) 64 sq. unit (b) 27 sq. unit     (c)
 4

127 sq. unit (d)
 4

255 sq. unit 

 

5.The area of smaller part between the circle 422 =+ yx and the line 1=x  is      

(a) 3
3

4 −π  (b) 3
3

8 −π

    
(c) 3

3

4 +π         (d)
 

3
3

5 +π

 

6. Area under the curve xxy 42 −= within the x-axis and the line 2=x , is      

(a) unitsq.
3

16  (b) unitsq.
3

16−
    

(c)
 

unitsq.
7

4  (d) Cannot be calculated  

7. The ratio of the areas bounded by the curves xy cos=  and xy 2cos=  between ,0=x  3/π=x  

and −x axis, is  

(a) 1:2  (b) 1:1  (c) 2:1  (d) None of these 

 

8. The area bounded by the parabola ,42 axy =    and two ordinates ,4=x  9=x  is 

(a) 24a  (b) 4.4 2a      (c) )49(4 2 −a  (d)
 3

152 a  

9. If the ordinate ax =  divides the area bounded by the curve ,
8

1
2 






 +=
x

y  −x axis and the 

ordinates ,2=x  4=x  into two equal parts, then =a      

(a) 8 (b) 22  (c) 2 (d) 2  
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10. Area bounded by the curve ,logxy =  −x axis and the ordinates 2,1 == xx  is   

(a) 4log sq. unit (b) )14(log + sq. unit (c) )14(log − sq. unit (d) None of these 

 

11. Area bounded by the lines 2,1, =−== xxxy  and −x axis is 

(a) 
2

5 sq. unit (b) 
2

3 sq. unit      (c)
 2

1 sq. unit (d) None of these. 

 

12. If the area above the x-axis, bounded by the curves kxy 2=  and 0=x  and 2=x  is ,
2ln

3  then 

the value of k is   

(a) 
2

1  (b) 1 (c) 1−  (d) 2 

 

13. Area bounded by parabola xy =2  and straight line xy =2  is   

(a) 
3

4  (b) 1 (c)
 3

2  (d)
 3

1

 

 

14. The area of the region bounded by the −x axis and the curves defined by 

)3/3/(,tan ππ ≤≤−= xxy  is  

(a) 2log  (b) 2log−  (c) 2log2  (d) 0 

15. The area bounded by the circle ,422 =+ yx  line yx 3=  and −x axis lying in the first 

quadrant, is  

(a) 
2

π  (b) 
4

π

 
(c)

 3

π  (d) π  

16. Area of the region bounded by the curve ,tan xy =  tangent drawn to the curve at 
4

π=x  and 

the x-axis is   

(a) 
4

1  (b) 
4

1
2log +

    
(c)

 4

1
2log −      (d) None of these 

17. The area of figure bounded by xx eyey −== ,  and the straight line 1=x  is   

(a) 
e

e
1+  (b) 

e
e

1−
 

(c)
 

2
1 −+
e

e  (d)
 

2
1 ++
e

e  

 

18.The area of the region bounded by |1| −= xy  and 1=y  is  

(a) 2 (b) 1 (c)
 2

1  (d) None of these 
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19.The area enclosed by the parabolas 12 −= xy  and 21 xy −=  is      

(a) 1/3 (b) 2/3 (c) 4/3 (d) 8/3 

 

20.The part of straight line 1+= xy  between 2=x  and 3=x  is revolved about x-axis, then the 

curved surface of the solid thus generated is      

(a) 3/37π  (b) 27π  (c) π37  (d) 2/7π   

 

21.The area bounded by 322 ++−= xxy and 0=y  is   

(a) 32  (b) 
3

32

 
(c)

 32

1  (d)
 3

1  

22.The area bounded by the curves xy 82 =  and xy =  is 

(a) 
3

128  sq. unit (b) 
3

32  sq. unit      (c)
 3

64  sq. unit   (d) 32 sq. unit 

 

23. The area bounded by curves xy cos=  and xy sin=  and ordinates 0=x  and 
4

π=x  is    

(a) 2  (b) 12 +  (c) 12 −  (d) )12(2 −  

24. Area bounded by the parabola axy 42 =  and its latus rectum is     

(a) 2

3

2
a sq. unit (b) 2

3

4
a sq. unit    (c)

 
2

3

8
a sq. unit (d)

 
2

8

3
a sq. unit 

25. The area bounded by the curve 24 xxy −=  and the −x axis, is     

(a) 
7

30  sq. unit (b) 
7

31  sq. unit (c) 
3

32  sq. unit (d)
 3

34  sq. unit 

26. The area of the region bounded by the curves 2xy =  and || xy =  is      

(a) 1/6 (b) 1/3 (c) 5/6 (d) 5/3 

27. The area enclosed between the parabolas xy 42 =  and yx 42 =  is    

(a) 
3

14  sq. unit (b) 
4

3  sq. unit     (c)
 16

3  sq. unit (d)
 3

16  sq. unit 

28. The area between the parabola 2xy =  and the line xy =  is       

(a) 
6

1 sq. unit (b) 
3

1 sq. unit     (c)
 2

1 sq. unit (d) None of these 

29. Area included between the two curves axy 42 =  and ,42 ayx =    

(a) 2

3

32
a  sq. unit (b) 

3

16  sq. unit     (c)
 3

32  sq. unit   (d)
 

2

3

16
a  sq. unit 
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30. Area bounded by curves 2xy =  and 22 xy −=  is  

 (a) 8/3 (b) 3/8 (c) 3/2 (d) None of these 

31. The parabolas xy 42 =  and yx 42 =  divide the square region bounded by the lines 4=x , 

4=y and the coordinate axes. If 321 ,, SSS  are respectively the areas of these parts 

numbered from top to bottom, then 321 :: SSS  is          

 (a) 2:1:2  (b) 1:1:1  (c) 1:2:1  (d) 3:2:1  

32. The part of circle 922 =+ yx  in between 0=y  and 2=y  is revolved about y-axis. The 

volume of generating solid will be       

(a) π
3

46  (b) π12  (c) π16  (d) π28  

33. The area bounded by the curves ,xy =  xy =+ 32  and −x axis in the 1st quadrant is   

   

(a) 9 (b) 
4

27

 
(c) 36 (d) 18 

34. The area of the smaller segment cut off from the circle 922 =+ yx  by 1=x  is    

(a) )83sec9(
2

1 1 −−  (b) 8)3(sec9 1 −−
    (c) )3(sec98 1−−  (d) None of these 

35. The area of region }1:),({ 22 yxyxyx +≤≤+  is   

(a) 
5

2π  (b) 
2

2π

 
(c)

 3

2π  (d)
 2

1

4
−π  

36. Area enclosed by the parabola )(3 22 xaay −=  and x-axis is 

(a) 24 a sq. unit (b) 212a sq. unit    (c) 
34 a sq. unit (d) None of these 

37. Area inside the parabola ,42 axy = between the lines ax = and ax 4= is equal to   

(a) 24a  (b) 28a  (c)
 3

28
2a  (d)

 3
35

2a  

38. The area of the curve )(22 xaaxy −=  bounded by y-axis is  

(a) 2aπ  (b) 22 aπ  (c) 
23 aπ  (d) 

24 aπ  

 

39. The area formed by triangular shaped region bounded by the curves xyxy cos,sin ==  and 

0=x  is   

(a) 12 −  (b) 1 (c) 2  (d) 21 +  

40. The area bounded by the x-axis, the curve )(xfy =  and the lines bxx == ,1  is equal to 

212 −+b  for all b > 1, then )(xf  is      
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(a) 1−x  (b) 1+x  (c) 12 +x  (d)
21 x

x

+
 

42.Area under the curve 43 += xy  between 0=x  and ,4=x  is     

(a) 
9

56  sq. unit (b) 
9

64  sq. unit     (c) 8 sq. unit (d) None of these 

43.The area bounded by curve ,2 xy =  line 4=y  and y-axis is     

(a) 
3

16  (b) 
3

64

 
 (c) 27  (d) None of these 

44.For ,0 π≤≤ x  the area bounded by xy =  and ,sinxxy +=  is    

(a) 2 (b) 4 (c) π2  (d) π4  

45.The area bounded by the straight lines 2,0 == xx and the curves 22,2 xxyy x −==   

(a) 
2log

1

3

4 −  (b) 
3

4

2log

3 +
    

(c)
 

1
2log

4 −  (d)
 3

4

2log

3 −  

46.The area between the curve 234 xxy −+=  and  x-axis is  

     

(a) 125/6 (b) 125/3 (c) 125/2 (d) None of these 

47.The area between the curve ,sin2 xy =  −x axis and the ordinates 0=x  and 
2

π=x  is   

(a) 
2

π  (b) 
4

π

 
(c)

 8

π  (d) π  

48.Area bounded by the curve ,01023 =−−− yxxy x-axis and the lines 4,3 == xx is   

(a) 132log16 −  (b) 32log16 −   (c) 32log16 +  (d) None of these 

 

49.The area of the triangle formed by the tangent to the hyperbola 2axy =  and co-ordinate 

axes is  

(a) 2a  (b) 22a  (c) 23a  (d) 24a  
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AREAS 

HINTS AND SOLUTIONS  

 

1. (d) Required area is unitsqdxydxyAA ∫ ∫ =+=+
π π

π
π

0

2

21 .4  

 

 

 

2. (c) Required area = ∫ ∫=
4

1

4

1 2
dy

y
dyx  

              = 
3

7
||

3

2
.

2

1 4
1

2/3 =y  sq. unit. 

3. (b) Required area is ∫ ∫=
a a

x dxxedxy
0 0

2  

  We put 
x

dt
dxtx

2
2 =⇒=  as 00 =⇒= tx  and 2atax =⇒= , then it reduces to  

  ∫
−==

2 2
2

0
0 2

1
][

2

1

2

1 a a
att e

edte  sq. unit. 

4. (d) Required area ∫ =











==

4

1

4

1

4
3

4

255

4

x
dxx  sq. unit. 

5. (b) Area of smaller part dxx∫ −=
2

1

242  

 

 

 

 

 3
3

8 −= π . 

6. (a) ∫ =











−=−22

0

2

0

23

.
3

16

2

4

3
)4( sq

xx
dxxx unit. 

7. (d) 
/3

1 0
cosA x dx

π
= ∫ , 

/4 /3

2 0 /4
cos 2 cos 2A x dx x dx

π π

π
= −∫ ∫ . 

8. (d) Shaded area ∫=
9

4
42 dxaxA  

 

 

O 
A1 

A2 π 

2π 
X 

Y 

x = 1 

X (0,0) 

Y 

(2, 0) 

x = 4 

y
2
=4ax 

x = 9 Y 

X 
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3

152
][

3

2
4 9

4
2/3 a

xaA =×= . 

9. (b) Let the ordinate at ax = divide the area into two equal parts 

 

 

 

 

 

       Area of AMNB 4
8

 
8

1
4

2

4

2 2
=







 −=






 += ∫ x
xdx

x
 

  Area of 2
8

1
2 2

=






 += ∫ dx
x

ACDM
a

 

  On solving, we get 22±=a ;Since 0>a ⇒ 22=a . 

10. (c) Given curve xy log=  and 1=x , 2=x . 

  Hence required area = ∫
2

1
log dxx  = 2

1)log( xxx −  

          = )14(log12log2 −=− sq. unit. 

11. (a) Required area ∫ ∫∫ −−
=+=

0

1

2

0

2

1 2

5
.. dxydxydxy sq. unit. 

 

 

 

 

 

12. (b) ∫ =−⇒=
2

0

2 312
2log

3
2 kdx kkx . Now check from options, only (b) satisfies the above  condition. 

13. (a) xy =2 and 2,022 2 =⇒=⇒= yyyxy  

   ∴ Required area
2 2

0
( 2 )y y dy= −∫ sq. unit. 

14. (c) Required area )2log(2]sec[log2tan2 3/
0

3/

0
=== ∫

ππ
xdxx . 

15. (c) Required area ∫ ∫ −+=
3

0

2

3

24
3

dxxdx
x  

 









2

3
,4B

 

 Y 

 (2, 3)  A 
 C 

X 
 O M 

 

D 

 

N 

(4,0) 

(–1, 0) 

(2,0) 

x =2 

x =1 
X 

Y 

yx 3=
 

(2,0) 
X 

Y 
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16. (d) 

 

 

 

 

 

 Shaded area∫=
2/

0
tan

π
dxx 4/

0]sec[log πx=  

 0seclog)4/(seclog −= π 1log2log −= 2log= . 

17. (c) Given equations of curves xx eyey −== ;  and straight line 1=x  We know that area of the 

figure bounded by the curves and straight line   

  ∫ −+=+=−= −−1

0

1
0 .2

1
][)(

e
eeedxee xxxx  

18. (b) ,1−= xy if 1>x and ),1( −−= xy if 1<x  

 

 

 

 

 

 

   Area 
2

1

21

0

21

0

2

1 22
)1()1(












−+












−=−+−= ∫ ∫ x

xx
xdxxdxx  

          














 −−+






 −= 1
2

1

2

1
1 1

2

1

2

1 =+= . 

19. (d) Given parabolas are yx += 12 ,  yx −= 12  

 

 

 

 

 

 

 

x =1 

y=1 

x = 2 

x + y = 1 

y = x – 1 

Y 

X 

x
2  

= 1 + y 

(0, 1) 

 x
2  

= 1 – y (0, –1) 

Y 

X 

x = π/4 

(π /2, 0) (–π / 2,0) 

Y 

(π/4,0) 
X 
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  Required area ∫ −=
1

0

2 )1(4 dxx
3

8

3
4

1

0

3

=











−= x

x . 

20. (b) Curved surface ∫ 

















+=
b

a
dx

dx

dy
y

2

12π  

 Given that ,2=a 3=b  and 1+= xy . 

  On differentiating with respect to x , 

  1or01 =+=
dx

dy

dx

dy  

 Therefore, curved surface  

 ∫ ++=
3

2

2 ])1(1[)1(2 dxxπ dxx∫ +=
3

2
2)1(2π  

 dxx∫ +=
3

2
)1(22 π

3

2

2

2

)1(
22











 += xπ  

      2727)916(2])12()13[(
2

22 22 ππππ ==−=+−+= . 

21. (b) Given, 322 ++−= xxy and 0=y  

  Therefore, 1−=x  and 3=x  

  ∴ Required area ∫− ++−=
3

1

2 )32( dxxx  

     
3

32
3

3

3

1

2
3

=











++−=

−

xx
x . 

22. (b) xy 82 =  and 082 =⇒=⇒= xxxxy ,8 

  ∴ Required area =∫ −
8

0
)22( dxxx   

  .
3

32

2

64

3

128

23

24
8

0

2
2/3 sq

x
x =−=












−= unit. 

23. (c) Given equations of curves xy cos=  and xy sin=  and ordinates 0=x  to .
4

π=x We know that 

area bounded by the curves ∫ ∫ ∫−==
2

1

4/

0

4/

0
sincos

x

x
dxxxdxydx

π π
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24. (c) Area = ∫ ∫=
a a

dxaxdxy
0 0

422  

 

 

 

 

   2

0

2/3

3

8

3

2
22 axa

a
=××  sq. unit. 

25. (c) We have 24 xxy −=  and 0=y ;∴ 0=x , 4  

  Required area ∫ 










−=−=

4

0

4

0

32
2

32

4
)4(

xx
dxxx  

26. (b)  

 

 

 

 Required area = 2 (shaded area in first quadrant) 

                    =∫ =×=−
1

0

2

3

1

6

1
2)(2 dxxx . 

27. (d) Equations of curves xy 42 =  and .42 yx = The given equations may be written as xy 2=  and 

.
4

2x
y =   

 We know that area enclosed by the parabolas ∫∫ =−=−=
4

0

24

0 3

16

3

16

3

32

4
2 dx

x
dxx sq. unit. 

28. (a) Given curves are 2xy = and xy =   

  On solving, we get 0=x , 1=x  

 

 

 

 

 Therefore, required area dxxxA ∫ −=
1

0

2 )(  

 
1

0

23

23 










−= xx

6

1

2

1

3

1 =−=  sq. unit. 

 

X 

(a –2a) 

(a, 0) 

(a, 2a) 

Y 

O 

y = – x
 y = x

2
 

 Y
 

(–1,1)
 

(1,1)
 

X 

y = x
 

O 

Y 

X 
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29. (d) Solving the two equations, we have xax 34 64=  

  ax 4,0=⇒  

  

 

 

 

 

  Required area =∫ ∫−
a a

dx
a

x
dxxa

4

0

4

0

2
2/12/1

4
2  

              

30. (a) 2xy =     .....(i) 

  22 xy −=    .....(ii) 

  ∴ By equation (i) and (ii) , we get, 1±=x  

  ∴ 1±=y   

 

  

 

 

   ∴ Required area 






 −−= ∫ ∫
1

0

1

0

22)2(2 dxxdxx  

  
3

8

3

2
4

3
4

3

2
22

1

0

31

0

3

=






=











−=












−= x

x
x

x .  

31. (b) xy 42 =  and yx 42 =  are symmetric about line xy =  

  ⇒ Area bounded between xy 42 =  and xy =  is ∫ =−
4

0 3

8
)2( dxxx  

   

 

 

 

 

 

 

B 

A P 

y
2
=4ax 

Y 

(4a,4a) 

M(4a,0) 
X 

O 

x
2
=4ay 

y = 2 – x
2 

y = x
2 

(0, 2)
 

(1, 1)
 

(–1, 1)
 

Y
 

X
 

S1 

(4, 4) 

S2 
S3 

Y 

X 
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  ⇒  
3

16
2

=sA  and 
3

16
31

== Ss AA   

  ⇒ 1:1:1::::
221 SSS AAA . 

32. (a) The part of circle 922 =+ yx  in between 0=y and 2=y  is revolved about y-axis. Then a 

frustum of sphere will be formed.  

 The volume of this frustum 

 ∫=
2

0

2dyxπ ∫ −=
2

0

2 )9( dyyπ  

 
2

0

3

3

1
9 







 −= yyπ 






 −−−×= )0.
3

1
0.9()2(

3

1
29 3π  

  ππ
3

46

3

8
18 =







 −= cubic unit. 

33. (a) Solving xy =2 and 32 += yx  

  22 )3(4 −= xy , 964 2 +−= xxx  

  ⇒ 09102 =+− xx ⇒ 0)9)(1( =−− xx ⇒ 9,1=x  

 

  

 

 

   

 

 

               = 4)1(4]log[4 1
0 =−−=−− xxx sq. unit, 

)0loglim (
0x

=
→

xx∵ . 

       Required area = A+B dx
x

xdxx∫ ∫ 














 −−+=
3

0

9

3 2

3  

34. (d) Required area ∫ −=
1

4/1
)1(2 dyy ,(From the symmetry) 

 

 

 

 

O 

A 
x = 9 

(3,0) 

B 

x =1 

Y 

X 

y =(x+1)
2 

y=(x–1)
2 

(0,1)
 

Y
 

X 

y = 4

1
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          On solving, we get required area 
3

1=  sq. unit. 

                       

35. (b) Area of smaller part ∫ −=
3

1

292 dxxI  

  














−−=






 +−= −−

3

1
sin98

2
9

3
sin99

2

1
.2 1

3

1

12 πx
xx  

 

 

 

 

   

36. (d) 1,122 =+=+ yxyx meet when 

 1211)1( 2222 =−++⇒=−+ xxxxx  

  

 

 

 

 

 

 

 0)1(2022 2 =−⇒=−⇒ xxxx  

 1,0 ==⇒ xx  ⇒ 0,1 == yy , i.e., )1,0();0,1( BA  

 Required area ∫ −−−=
1

0

2 )]1(1[ xx dx 

37.  (a) The parabola meets x-axis at the points, where .0)(
3 22 axxa
a

±=⇒=−  So the required area 

  ∫ ∫−
=−=−=

a

a

a
adxxa

a
dxxa

a 0

22222 4)(
6

)(
3 sq. unit. 

38. (c) We have axy 42 =  ⇒ axy 2=  

  We know the equations of lines ax =  and ax 4=  

 ∴ The area inside the parabola between the lines  

(0, 0) 

(3, 0) 

 x = 1 

(1, 0) 

X 

Y 

B (0, 1) 

x
2
+y

2
 = 1

 

A (1, 0) 

y = 1 – x 
O 
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a

a

a

a

a

a

a

a

x
adxxadxaxdxyA

4

4 2

3

2

144

2

3
222 ∫∫∫



















====  

39. (a) Since the curve is symmetrical about x-axis, therefore Required area ∫
−=

a
dx

x

xa
aA

0
2  

  Put θ2sinax =  

  θθθ dadx cos.sin2=⇒  

  θθ
θ
θπ

da
a

a
aA 2sin

sin

cos
2

2/

0 2

2

∫=  

     ∫=
2./

0

2 cossin2
sin

cos
2

π
θθθ

θ
θ

da  

  ∫=
2/

0

22 cos4
π

θθ daA ⇒ 22

2
.

2

1
.4 aaA ππ ==  

40. (a) Given required area has been shown in the figure. 

 
4

π=x   is the point of intersection of both curve  

 

 

 

 ∴Required area = ∫ −
4/

0
)sin(cos

π
dxxx  

                            4/
0]cos[sin πxx +=












−+= 1

2

1

2

1  

                           = 121
2

2 −=− . 

41. (d) b
b

xbbdxxf 1
22

1

2 ]1[11121)( +=+−+=−+=∫  

 ∴ 1)( 2 += x
dx

d
xf

112

2
22 +

=
+

=
x

x

x

x . 

42. (d) Area 
4

0

2/34

0 )2/3.(3

)43(
43

+=+= ∫
x

dxx  

   

 

x = a 

Y 

X 

y  = cos x 

 y = sin x 

x = π /4 

 Y 

 X 

43 += xy
 

C 

B 

A O 

Y 

X 
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          .
9

112
56

9

2
sq=×= unit. 

43. (b) Required area = area of OABC – area of OBC 

 

 

 

 

 

 

                     .
3

64

2/3
64416

16

0

2/316

0
=












−=−×= ∫

x
dxx  

44. (a) The curves xy = and xxy sin+=  intersect at (0, 0) and ),( ππ . Hence area bounded by the two 

curves 

  ∫ ∫∫ =−+=
π ππ

0 00

sin)sin( dxxdxxdxxx  

  2)1()1(0coscos]cos[ 0 =+−−=+−=−= ππx . 

45. (d) Required area =∫ −−
2

0

2 )]2(2[ dxxxx  

              
2

0

3
2

32log

2












+−= x

x
x

 

46.  (a) Solving 0=y  and ,34 2xxy −+= we get 4,1−=x . Curve does not intersect x-axis between 1−=x and 

4=x . 

 ∴ Area ∫− =−+=
4

1

2

6

125
)34( dxxx . 

47. (b) Required area dxa
x

dxxA ∫∫ 






 −==
2/

0

2/

0

2

2

2cos1
.sin

ππ  

48. (c) Given curve is 
2

103
103)2(

−
+=⇒+=−

x

x
yxxy  

 Required area is ∫ ∫ −
+=

4

3

4

3 2

103
dx

x

x
dxy  

  = 2log163)]2log(163[ 4
3 +=−+ xx  sq. unit. 

O 

A 

X 

y
2 

= x 

(16,4)B 
y= 4 

C 

Y 
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49.  (b) Given 2axy =  or 
x

a
y

2

=                  .....(i)  

 There are two points on the curve (a, a),(– a,– a) 

 

 

 

 

 

 The equation of the line at ),( aa is,  

 )(
),(

ax
dx
dy

ay
aa

−=− 







)(

),(

2

2

ax
x
a

aa

−−=













 

 )( axay −−=−  therefore, equation of the tangent at ),( aa  is ayx 2=+ .The interception of line 

ayx 2=+  with x-axis is 2a and with y-axis is 2a.  

 ∴ Required area = 2222
2

1
aaa =×× . 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2a 

2a 

X 

(–a,–a) 

Y 
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AREAS 

PRACTICE EXERCISE 

  

  1. The area bounded by y = 5x - x2 - 4 and the x -axis 

  1) 
9

4
 sq.units 2) 

8

9
 sq.units 3) 

3

2
 sq.units 4) 

9

2
 sq.units   

  

 2. The area bounded by the curve y = (x - 1)2 - 25 and the x-axis is 

  1) 
200

3
sq.units 2) 

300

4
 sq.units 3) 

400

3
 sq.units 4) 

500

3
 sq.units  

 3. The area bounded by x2 = 4y, x = 4y - 2 

  1) 9/8 sq.units 2) 9/4 sq.units 3) 9/16 sq.units 4) 3/2 sq.units  

 4. The area bounded by y2 = 4x and the line y = 2x-4 

  1) 18 sq.units 2) 9/2 sq.units 3) 9 sq.units 4) 3/2 sq.units  

 5.     The area between the curves y = 8 - x2 and y = x2 in sq.units is 

  1) 32/3 2) 64/3 3) 16/3 4) 8/3     

 6. The area enclosed within the curve |x| + |y| = 1 is 

  1) 4 sq.units 2) 1 sq.unit 3) 2 sq.unit 4) 8 sq.unit   

 7. Area of the region bounded by y = 1 - |x|  and the x-axis  

  1) ½ 2) 1 3) ¼ 4) 2     

 8. Area of the region bounded by y = [x], the x-axis and the coordinates x = 1,  

  x = 2 is 

  1) 2 2) 1 3) ½ 4) 1/3     

 9. The area bounded by y = x3 - 6x2 + 8x and the x - axis 

  1) 8 sq.units 2) 4 sq.units 3) 16 sq.units 4) 4 sq.units   

 10. The whole area bounded by 4yx 3

2

3

2

=+  in sq. units  

  1) 24π 2) 48π 3) 12π 4) 36π     

 11. The area of the region bounded by the curve y=sinx and the x-axis between     -ππππ and  ππππ 

is 

  1) 8 sq.units 2) 4 sq.units 3) 2 sq.units 4) 1 sq.unit   
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 12. The area bounded by one of the ac of y = cosax and the x-axis is 

  1) 
|a|

1
 2) 

a

1
 3) 

a

2
 4) 

|a|

2
    

 13. The area between the curves y2 = x/2 and 3y2 = x + 1 in sq.units is 

  1) 4/3 2) 2/3 3) 8/3 4) 16/3     

 14. The area between the curves y = 
x2

4
 and  y = 3 - 

x2

2
 in sq.units is 

  1) 8 2) 16/3 3) 8/3 4) 12    

 15. The area of the region between the x-axis and the curve f(x) = 
1

4

1

4

1

2
2x x+ −  in [0, 2] is 

  1) 
3

4
 sq.units 2) 

3

2
 sq.units 3) 

3

8
 sq.units 4) 

3

5
sq.units   

 16. The area bounded by the x - axis, part of the curve y = 1 + 8/x2 and the ordinates at x=2 

and x=4 is divided by the ordinate x = a into two equal parts. Then a = 

  1) 2 2  2) 2 3) 4 4) 3      

 17. The area bounded by the curve ay2 = x3, the x-axis and the ordinate x = a 

  1) 
8

3

2a
 sq.units 2) 

2

5

2a
sq.units 3) 

4

5

2a
 sq.units 4) 

3

5

2a
sq.units  

 18. The whole area bounded by a2y2 = a2x2 - x4 is 

  1) 
2

3
2a  sq.units 2) 

8

3
2a  sq.units 3) 

4

3
2a  sq.units 4) 

5

3

2a
sq.units    

 19. The area bounded by a2y2 = x3(2a-x) 

  1) πa2 sq.units 2) 
πa2

2
sq.units 3) 2πa2 sq.units 4) 

πa2

4
 sq.units  

 20. The area bounded by the line y = x curve and y = x3 is 

  1) 1 sq. units 2) ½ sq. units 3) 1/3 sq. units 4) ¼ sq. units   

 21. Area bounded by y = (x - 1)(x - 2)(x - 3) between x = 0, x = 3 in sq. units is 

  1) 
4

9
 2) 

4

11
 3) 

4

7
 4) 

4

3
     

 22. Area of the region bounded by y = ex and y = e-x and the line x = 1 in sq. units is 

  1) e + 
1

e
 2) e - 

1

e
 3) e + 

1

e
 + 2 4) e + 

1

e
 - 2  
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 23.  The area bounded by y = x2, y = [x + 1], x ≤≤≤≤ 1, and the y-axis in sq. units is 

  1) 31  2) 32   3) 1 4) 37      

 24. The area bounded by the curve xy=4 and x-axis the ordinates x=2, x=4 in sq. units is  

  1) 4 log 2 2) 2 log 2 3) 8 log 2 4) log 2    

 25. The area of the curve x = acos3t, y = bsin3t in sq. units is 

  1) 
3

4

π
ab 2) 

3

8

π
ab 3) 

π
4

ab 4) 
π
8

ab     

 26. The area bounded by one arc of y = sin2x and x-axis in sq. units is 

  1) 1 2) 2 3) 3 4) 4     

 27. The area bounded by the curve y = sinx-cosx.  X-axis and x = 0, x = ππππ/2 in sq.units is 

  1) 3  - 1 2) 2( 3  - 1) 3) 2( 2  - 1) 4) 2( 2  + 1)   

  28. Area of the region bounded by y = tanx, and tangent at x = 
π
4

 and the x-axis in sq. units  

  1) log 2  - 
4

1
 2) log 2

16

2

+
π

 3) log 2
4

−
π

 4) log 2   

 29. The area bounded by y = cosx, y = x +1 and y = 0 in the second quadrant in sq. units is 

  1) 1/2 2) 3/2 3) 1/4 4) 5/4     

 30. The area between 
x

a

y

b

2

2

2

2
1+ =  and the straight line 

x

a

y

b
+ = 1 in sq. units is   

  1) 
1

2
ab 2) 

πab
2

 3) 
ab

4
 4) 

πab ab

4 2
−    

 31.  The area of the triangle formed by the positive x-axis and the normal and tangent to the 

circle x2 + y2 = 4 at (1, 3 ) in sq. units is 

  1) 3  2) 
3

1
 3) 2 3  4) 2/ 3     

  32. The area of the region bounded by the curves y = |x-2|, x = 1, x = 3 and the   x-axis is 

  1) 1 sq. units 2) 4 sq. units  3) 3 sq. units   4) 2 sq. units 
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AREAS 

Key for Practice Exercise 

1 2 3 4 5 6 7 8 9 10 

4 4 1 3 2 3 2 2 2 1 

11 12 13 14 15 16 17 18 19 20 

1 2 1 1 1 1 3 3 1 2 

21 22 23 24 25 26 27 28 29 30 

4 4 2 1 2 1 1 1 1 4 

31 32 

3 1 

 




